Worksheet # 15 Series |

—

. Convergence Tests

(a) State the Divergence Test (nt® term test). What is the converse and does it hold?
(b) What is a p-series? For what values of p does it converge and diverge?

(c) State the Integral Test.

(d) State the Comparison Test.

(e) State the Limit Comparison Test.

2. Do each of the following series converge or diverge? For each convergent series ﬁgd the sum.
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3. For what values of z is the function f(z) = Y o, (z — 3)* defined?

4. Write the following decimals as fractions: a) 0.24 b) 39717

5. Use the integral test to determine if the following series converge or diverge.
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6. Determine if the following series converge or diverge.
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7. Solve the following equation for z: Z(l +z) " =2.
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8. Use facts about geometric series to prove that .99999999... = 1.
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